
FOURIER- TRANSZFORMÁCIÓ
alapt ulaj donságai

F(J(x) + g(X); 8) - F(J(x); 8) + F(g(x); 8)

F(c· f(x); 8) = c·F(J(x); 8) (céC)

F(J(ax); 8) 1 8
(a > O)= -F(J(x); -)

a a

F(J( -x); 8) = F(J(x); -8)

F(J(x - xo); 8) - e-isxo . F(J(x); 8)

F(eiwOx • f(x); 8) = F(J(x); 8 - wo)

F(x· f(x); 8) - i· :8 F(J(x); 8)

F(J'(x); 8) - is- F(J(x); 8)

Alap- Fourier- transzformáltak:

1.

2.

3.

F(e-1xl; 8) = ~. _l_V -; 1+ 82

F(e-x2
/2; 8) = e-s2

/2

f(x) = c ha -1 < x < 1
esetén

ha Ixl > 1

I! sin s
F(J(x); 8) = - . -.

'Tr 8


